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hudng tiéu biéu & 50+
moi truong lam cau
viéc thuoc nganh hoi
N A ol
Tai chinh -Ngén o
hang U
luan

I11. Ngi dung cau hei thi )
PHAN TRAC NGHIEM (50 cdu_ 0,14 diem/ cau)

You can have the chair lower or higher because it has ...............c.................... height.
A. adjustable

B. swiveling

C. sectional

D. ergonomic

ANSWER: A

The product sales report shows that sales have ............. in the last month.
A. fluctuated

B. incorporated

C. invested

D. flowed

ANSWER: A

Invest-it is looking for a highly experienced ..................cc.e............... controller.
A. financial

B. conservative

C. commensurate

D. trade

ANSWER: A

Is the following sentence correct? The bank can issue foreign coins.
A. Incorrect

B. Correct

ANSWER: A

Which sentence seems to be better reply? A: There are insufficient funds in your account. —

A. Oh dear. | want to inquire about a charge in my account.
B. Oh dear. I guess I’ll have to check my balance more often.
ANSWER: A

Have you ordered that new office desk with ................................. keyboard trays, yet?
A. ergonomic

B. swiveling

C. sectional

D. economic

ANSWER: A
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As a broker, Aiden wasused to .................... and selling stocks on all markets.
A. purchasing

B. mutual

C. securities

D. earning

ANSWER: A

If we move to a bigger factory, we will have bigger quantities and we can lower our ....costs.
A. production

B. performance

C. labor

D. administrative

ANSWER: A

Is the following sentence correct? The level of debt capital is very high at the moment in this
company, and they’re doing fine.

A. Incorrect

B. Correct

ANSWER: A

.....1s an electronic device converting paper document images into data
A. scanner

B. mouse

C. keyboard

D. monitor

ANSWER: A

Is the following sentence correct? Invest in sold stocks that don’t tend to dip value in the long-
run.

A. Incorrect

B. Correct

ANSWER: A

An............ccceeciieieeee oL 18 the extra money you can withdraw from your bank account
each month.

A. overdraft

B. checking

C. saving

D. limit

ANSWER: A

We will need to order some more size 10 ...............c.ceuuee............. fOr the office staplers.
A. staples

B. erasers

C. pens

D. markers

ANSWER: A
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.................. is an income received usually upon retirement
A. pension

B. dividend

C. trust

D. share

ANSWER: A

Why is the level of accounts ............. so high this month, Leonie?
A. payable

B. adjustable

C. payment

D. commercial

ANSWER: A

Is the following sentence correct? It is possible to arrange letters of credit for all customers
for a small fee.

A. Incorrect

B. Correct

ANSWER: A

...1s a written agreement between two or more parties to complete an action(s)
A. contract

B. business plan

C. budget provision

D. record

ANSWER: A

Is the following sentence correct? One of the roles of the investment bank involves arranging
mergers.

A. Correct

B. Incorrect

ANSWER: A

If you want a low level of return, maintaina ...........cccoooviiiiiiinnn, investment approach.
A. conservative

B. aggressive

C. mutual

D. retirement

ANSWER: A

The bank assistant asked Jane if she wanted a higher credit ..............
A. limit

B. deposit

C. change

D. expenditure

ANSWER: A
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...... means not changing
A. steady

B. grow

C. shrink

D. expand

ANSWER: A

Is the following sentence correct? We need to be more attractive to up-and-coming
corporations.

A. Correct

B. Incorrect

ANSWER: A

Which sentence seems to be better reply? A: Have you used the printer yet, Gayle? -

A. T have. It’s printing a little light.
B. I have. Let me know if it sorts itself out.
ANSWER: A

Is the following sentence correct? Through e-banking you can transfer money whenever you
want to BNN Bank accounts.

A. Correct

B. Incorrect

ANSWER: A

Is the following sentence correct? The stock market is showing signs of recovery and gaining
points.

A. Correct

B. Incorrect

ANSWER: A

How many members of .....does this company currently employ?
A. staff

B. partners

C. administrative

D. people

ANSWER: A

We can see a company’s financial position if we look at the balance ..............
A. sheet

B. loan

C. credit

D. letter

ANSWER: A

Is the following sentence correct? To find the percentage from a decimal, we simply multiply
by one hundred.
A. Correct

Trang5/9



BM-003

B. Incorrect
ANSWER: A

............. is a person’s or company’s collection of investments
A. portfolio

B. IPO

C. trust

D. pension

ANSWER: A

Is the following sentence correct? How long have you been working in proprietary trading
Shelley?

A. Correct

B. Incorrect

ANSWER: A

It is possibletosetupa.........ccccceeeevnvnnn.n...... deposit from your pay check for your auto
loan.

A. direct

B. loan

C. purchase

D. charge

ANSWER: A

The cotton farmers got together to forma ......... on sales.
A. co-operative

B. corporation

C. budget

D. partnership

ANSWER: A

...................... 1s to redeem an investment for its monetary value
A. cashin

B. trust

C. rollover

D. share

ANSWER: A

...... means the debt of money that a company owes to its suppliers
A. accounts payable

B. accounts receivable

C. liabilities

D. inventory

ANSWER: A

Do you really think that our existing budget is ...... to cover costs?
A. sufficient
B. incorporated
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C. variable
D. fixed
ANSWER: A

...1s a collection of documents regarding one person, company or account
A. file

B. record

C. review

D. statement

ANSWER: A

Is the following sentence correct? The customer wishes to pay fifteen hundreds dollars by
credit car

A. Incorrect

B. Correct

ANSWER: A

Personnel problems and equipment failure are part of ..............cccccceeeeeno oL TiSk
A. operational

B. financial

C. technical

D. traders

ANSWER: A

...... means to reach a highest point
A. peak

B. grow

C. shrink

D. expand

ANSWER: A

Is the following sentence correct? Can | use your calculator to find 157.63 add 191.26, please?
A. Incorrect

B. Correct

ANSWER: A

One way to earn some interest is through......................ooonll. of deposit.
A. certificates

B. purchasing

C. estate

D. risk-free

ANSWER: A

Most investors choose the category of..........cccoeeeiiiiiiiiiinini. to invest borrowing
from the money markets.

A. securities

B. equity

C. retirement
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D. purchasing
ANSWER: A

What kind of return is there for investing inreal.............cc....oooiiiii nowadays?
A. estate

B. certificates

C. markets

D. equity

ANSWER: A

How often do you think we should meetwith ...................................... Oor brokers?
A. traders

B. trading

C. trade

D. traded

ANSWER: A

The value of .......ccooveieiii relates to the total value of stocks in a company.
A. equity

B. securities

C. certificates

D. risk-free

ANSWER: A

Is the following sentence correct? Money cannot be taken from the fund for cash flow at any
time.

A. Incorrect

B. Correct

ANSWER: A

Daisy used extra strong ..........cccccevveiniinnn.n. to attach the signs that said PULL to the
doors.

A. tape

B. binder

C. markers

D. staples

ANSWER: A

Most of the offices nowadays runon ............. internet access.
A. wireless

B. qualifying

C. returned

D. sufficient

ANSWER: A

....means to look and check for errors in a report/statement
A. review
B. scan
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C. oversee
D. monitor
ANSWER: A
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................... is the initial public opening of a company at the stock exchange

B. going concern
C. public

D. trust
ANSWER: A

PHAN TU LUAN (I cdu _ 3 diém)

Cau héi: Some people think we need to financially prepare for retirement as soon as
possible. Write a short essay (150-200 words) to give your opinion.

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Ndi dung dap an Thang diém | Ghi chi
I. Tric nghiém 7.0
Caul-50 | 0.14
Il. Ty luan 3.0
Khia canh 1 Céu trauc doan vin 1.0
Khiacanh 2 | Noi dung phi hop voi dé bai, ¢d si 1.0
dung tir vung da hoc
Khia canh 3 Ngit phap, van phong, chinh ta 1.0
Piém tong 10.0

Ngudi duyét dé

HOANG HOA SON TRA

TP. Ho Chi Minh, ngay 17 thing 7 nam 2024
Giang vién ra de

Nguyén Thi Quynh Dung
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